INTERNATIONAL

GLAZED PREMIUM FIBERGLASS

DOUBLE DOOR

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in wind borne debris regions, the opaque door panel has been tested
and evaluated as an impact resistant product and does not require the use of an
approved impact resistant covering. The sidelites must be protected with an impact
resistant covering that complies with Sections R301.2.1.2 and 1609.1.2. This opaque
door meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

1

Typical elevations, design pressures & general notes

Door panel construction details & glazing details

Horizontal cross sections

Vertical cross sections

Frame anchoring

Components

N[ovnjO | AW IN

Bill of materials

74" MAX. O.A. FRAME WIDTH

0’\.\"":\_;‘::,‘&
oo R g
SR {0 4 \
AN R R
~ & _.' g .
284S / ¥
gui A o {
O Ry
{')\/)'.. 10O
??d R e
QA HE S E st L
(i ¢ ey
111 K R A
W™

97.88" MAX. FRAME HEIGHT

INSWING

74.0" x 97.88"
G1

OUTSWING

74.0" x 96.75"

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

REVISIONS

NO.) DATE

pATE: 8/11/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5233

sHeer 1 oF 7

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5233.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



“ON| SLNVLINSNDOJ 9NIaing *"M°'d Lzoz @

ZS8LL—4 # NOLVMISIOZN 40 ILVOIJILNID SNOISIATY
SYIINIONI VNOISSI408d 40 Quvodg Svxal mh%@ﬁmmmm%ﬁmsqw mmmw\mwo Ag 4lvd [ON Sloslzlo] ™ 7_
6L6° * 0 |uo S F M
SGEse g e s \Su@, "X1BN3SSY 90 Lavd W = I
*ONI ‘SINVLINSNOD ONIaTINg N g | 2_
SSVY19¥43814 3LdINT ANIN3&d o (5] o W
CZIHOL# "3'd SVXIL TANI SSYI19 ALINIML i w 6| v|E m
‘I°'d ‘IPIWIYDS °4 uopuk :Ag pespdeld sjuswnsoq :109NAaoyd Z|g W z m z

w60

TOP RAIL
——1.56" ——
BOTIOM RAIL

- 1.56" —]

—— W60 T\@

= :V&.O

:*Q.O P o

EXTERIOR
LVL
RAIL

/Al
/4
//
/4

.

7“2\ VERTICAL CROSS SECTION

INTERIOR
PVC —

=3
— [72)
) o™
= o~
\ w
o — —
S 4'@ - 95l —
[UN]
—“ E
w —
m — ﬂ B R D
o) J 5 =80
O — o o =
x
w & o « $ «
® - 58 u & N
s 3 2,2 34 T
= N, Ha 5 Ha .
= wm B wm ST
% T — _1 9910
|O / n
7 /.
L1 \\ - =t
i <
e | S g —— |=— 6910
— = ) .
O 5 m ._Nmm_.l'l
= =) 3 .
oy et o) o ] el TI
2] teriien < ﬁ
o m @ vl —=
P2 & = 1
O o
L // = 2 .
oz " oz w O M m W =]
2 of < i S o &
i m = . 27— S
< m O ! z =
- // =N & 3
x
& 7 )
~— 95" ——

S —
[———

35.81" MAX
PANEL WIDTH
21.0" MAX.
D.L.O. WIDTH
‘D

®

@ PREMIUM LIPLITE FIBERGLASS DOOR

o
<<
O
L
=
w
o}
a
=
O
E

P

IHOBEH 'O 1A XYW ./8'8/

IHOEH TINVd XYW .5T'56

DMP €£25-X [\SDUIMEIQ\E L2-4a\sul 30 300Q sexal - G\LNINVINYI SseID AUULI\SIUSIIDNZ



SoaR AR BT

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

OOV

OF T&
. % ."'...*
NDON F. SCHMIDT

813.659.9197

P.O0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

MANUFACTURER|  MODEL | mEM#

i LOCK: 740 21
KWIKSET | peapeoLr: 780 22

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS

HORIZONTAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

2 3 4 oo
DRYWALLX\ NN
A

INTERIOR

L 7 Qi /@

REVISIONS

EAANEU IR RN IR,
| Y "/////////////////////»-

/, :\ 1

DATE

NO |

EXTERIOR @

DATE: 8/11/21

SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
7“1\ HORIZONTAL CROSS SECTION /" 2"\ HORIZONTAL CROSS SECTION DRAWING NO::
\y Outswing shown w Endura astragal TX—5233
Inswing also approved

SHEET 3 oF 7

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5233.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



@\

EXTERIOR

| >/®
4
~
EXT. SHEATHING \’
fl | |4

5 / DRYWALL

Ac

D O

INTERIOR

W

m VERTICAL CROSS SECTION

\4/

EXTERIOR

@\

Outswing shown
Inswing also approved

\ INTERIOR

WOOD
P ) CONCRETE

N
\\

7“3\ VERTICAL CROSS SECTION

w Outswing configuration

EXTERIOR \ INTERIOR

5
[
e
&
¥

L “
oK ‘B $
SRS
s t0:
Fuf i}
A e |
f’ \‘.. VQ\ (b
TS ‘O
((\?‘.K, ., e d
e, 10
Qe iZ
Uk 32 £ 2
11‘\.\.‘\";‘\‘\.\"'\'

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

m VERTICAL CROSS SECTION
W Outswing configuration

\

EXTERIOR INTERIOR

@\

WOOD

CONCRETE

L

/ 4\ VERTICAL CROSS SECTION

W Inswing configuration

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NO. DATE

paTE: 8/11/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5233

SHEET 4 oF 7

Z\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5233.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



SEE HINGE
DETAIL 1

-

8.75"
|

26" MAX.
I“* OC.(TYP)

SEE
HINGE
DETAIL 2

HINGE JAMB

2X FRAMING
BY OTHERS
H &' (TYP)
3" (TYP.)
l~— 4" (TYP.)
I O | |
TYP. -
HEAD 1— "A-A" —1 £
/ 8 JAMBS =
2X FRAMING - s
178
‘ 43
0
DOOR v . _ o)
FRAME
H—
— / — ﬁ
ASTRAGAL SHOWN \@ - :
FOR REF. ONLY t
© © TYP. SILL JAMBS &
- o WOOD —
o CONCRETE
FLOOR g
SUBSTRATE ¢ ¢
MATERIAL - —
) 11 | . I
FRAME ANCHORING
Stud construction e CONCRETE ASTRAGAL STRIKE

0
-

A\
\\ o

\\_°
A\

A<

VIEW A-A

Astragal strike @ head

\
\\)

\\

VIEW B-B
Astragal strike @ sill

&)
I—O%\h

e @

)\
\\

&)

STRIKE PLATE DETAIL
Astragal

D=y

(1)

_\:\_\,\.\:&!.\.'Ll
e 5

e "3 sl

NDON F. SCHMID

.
.
H

....

\

)\

L=
e || e
Nk
Se[estf ™

\

HINGE DETAIL 1

\\

L

\\
/
‘\

0o/ o

23

®

—

\

HINGE DETAIL 2

i1

& ]

-

53

Eg o

£ 0

0 , M

U)u! )

oy N TN

Lo If"’

e 5

[*] 0 .

v 0o

S 8

3 o®
>m
ow
2]
N
X
o
m
(o]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

NOJ| DATE

REVISIONS

DATE: 8/11/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—5233

SHEET 5 oF 7

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5233.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



“ON| SANVLINSNOJ aNIaiing "M"'d Lz20oz @

2S8LL—4 # NOLLVALSIORY 40 ILVOLILNID SNOISIATS !
SHIIANIONI TVNOISSIH0Nd 40 QuvVOd SVXIL SININOGWOD Ad 31vd [ON m slzlo " 7_
L616°659°CL8 "ON ®uoyd : | &
G6SEE 14 OSMUIDA 0SZ Xog .O.mgg ‘A18W3SSY ¥0 Ldvd — M = . :2u S
*ONI ‘SINVLINSNOOD SNIaling \ . 2 | 6_
SSY1943814 31dIT WNINI&d o AR =
£ZLHOL# *3'd Svxal TANI SSV19 ALINIGL SEIEIME &
*3°'d PIWYDS ‘4 uopuAk :Ag pespdedd sjuewnooq 110Naodd S 9 W m m x
s > o
__Om._.l_‘I"
|
. . ; o]
5ms o O
g7 eTivll A :
3 LaINHOS 3 NOGNALZ
.\».# ............... ; g 1 .
.\..»w ¥ fm./..r ¢ Vi ol o —
. D& z 9 )
@:%ﬁw ............ E - = < o,
g dd 40 25 ¢ d
TEXTTOR 38 . o
@ 3
N
W9L'0 —=—=
7 : 3
<
) =7 y 5
& —
85
Sa
+ 35
£y
B (o]
29
G .
E
[ ~
o
(o]
WL
| .
7 m :O _.
(%] o
@ __WQN
s =
S < S5 =
[a) w o (o]
= = = X
T y S m m
- oy =2
m.,ou a .olo 3@ n &0 (o] T
] a 2|3 B Q
M @ 5 S
™ H <| 2 S ~ ]
o) S35 8 5
— =lo o]
Dx S® = Q o
w W o|w
=2 fgo ® ®
5s 2zz (® =
s BZG
= S
. — w r
—— STl = S B
2, &
.y
[¥p)
— :Nm” _. [
9
07 = g
2 ]
_ ] x5
w °|.2
P 1o O - A
= 5 2
= - O <
N (@) O| . N . = SIS
" g 2 e 5 B
S S = oF
2 e}
o © =) ®
L 7" :_..O

DMP'EE2G-X \SPUIMBIQ\E L Z-4\su| 4O 3daq sexal - G\LNINVINYId Sse|D AUl [\siualD\'Z



BILL OF MATERIALS

ITEM| DESCRIPTION MATERIAL
A | 2XHEADER FRAMING SG >=0.42 WOOD
B [ 2X FRAMING SG >=0.42 WOOD
G [ MAX. 1/4" SHIM SPACE WOOD
I 13/16"X 1-3/4" TW CONCRETE SCREW STEEL
J | #10 X 3" PFH WS (1-1/2" MIN. EMBEDMENT) STEEL
K | #9 X2"PFH WS STEEL
L | #8X2-1/2"PFH WS STEEL
P | 1/4" FH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
Q [3/16"FHITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
3 | HINGE JAMB - FINGER-JOINT PINE WOOD
4 | HEAD - FINGER-JOINT PINE WOOD
5 [INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM
6 | DOOR BOTTOM SWEEP PVC
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
8 |#6X1-1/4"PFH DRYWALL SCREW STEEL
12 | WEATHER STRIP QEBD450 Q-LON =
18 |3.983"X 4" HINGE MIN 0.098" THICK STEEL
19 | SILLKEY PC/ASA
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHART) STEEL
22 | DEADBOLT (SEE LOCK & DEADBOLT RATINGS CHART) STEEL
23 | STRIKE PLATE STEEL
23A | DEADBOLT PLATE STEEL
24 | #9 X 5/8" PFH SCREW STEEL
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPQOSITE SUBSTRATE ALUM./ COMP.
26 | #9 X 1" PFH SCREW STEEL
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPQOSITE SUBSTRATE ALUM./ COMP.
30 |LATCH STILE - SG >=0.42 LVL/PVC
32 | HINGE STILE - SG >=0.42 LVL/PVC
33 | TOP RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC
34 | BOTTOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC
39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS FIBERGLASS
40 | #8 X 1-1/8" SELF THREADING SCREW STEEL
42 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL
44 | HOT MELT SEALANT / SILICONE -
45 | LITE FRAME PC/ASA
46 | INSULATING FOAM CORE POLYURETHANE
53 | #8 X 1-3/4" PFH SMS STEEL
54 | ASTRAGAL STRIKE @ HEAD STEEL
55 | ASTRAGAL BY ENDURA PRODUCT ALUMINUM
56 | ASTRAGAL STRIKE @ SILL STEEL
64 | #8 X 2" PFH WS STEEL

CONCRETE ANCHOR NOTES:

a2\,

*
.*\.
YN

. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

p—

. Concrete anchor locations noted as "MAX. O.C. (TYP.)" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. O.C. (TYP.)" dimension are not exceeded.

Concrete anchor table:
ald e L ommeE T ANGHOR
Tarcon® | 14 1-3/4" 2" &
UB’:Y\VQSN? 1/4° 1-3/4 L 4
TAIPTél:\,ON® 316" 1-3/4 AS SHOWN 1-1/2"

WOOD SCREW INSTALLATION NOTES:

wood screws to prevent the splitting of wood.

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

uj
R
L 0
kel
2 0 G
£* 0 z
u:CL = N Wl

.d‘m_ L
g'é Eom <
° oo ZzZZ
o <9 oo
> HI8 akF
2 452 9

A>o ”’é

- f

5§23® cv
3 n ]
) OWN= pi

9 (4
k-] ©3Z
o z 8 1™
et EmO o
2 4.5 o
o 50¢ %E
& Do 85
; :
o o
E S
3
0
[}
a
n
<

O %)

=0 -

=z <<

—o o

n Lt

Qu <

as |3 =

s |5y

e |l ©

= 7}

Zs |o| I
LES (<] §
5Fs |x
8| W |o
a Be
g & |k
o o

>_
m

n

=

O

2]

o
L
<t
(]
o
pd
DATE: 8/11/21
ScALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS

DRAWING NO.:

TX—5233

SHEET 7 oF 7

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5233.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



